
Nitrogen
Method 010.60, combustion

n = 45 to 60
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Phosphorus
Method 041.60, Direct Available P2O5, citrate-soluble

n = 8 to 14
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Phosphorus
Method 041.51, Direct Available P2O5, ICP citrate-soluble 

n = 3 to 9
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Phosphorus
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Direct Available P2O5, citrate-soluble Direct Available P2O5, ICP citrate-soluble 



Potassium
Method 050.00, Soluble K2O, STPB Oxalate

n = 7 to 14
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Potassium
Method 050.52, Soluble K2O, ICP citrate-EDTA

n = 4 to 11

0

1

2

3

4

5

IA
 F

ac
to

r



Potassium

Soluble K2O, STPB oxalate Soluble K2O, ICP citrate-soluble 
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